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1. If it was Tuesday on 8th August, 1955, then what day
was it on 21st October, 1993?

8 wxLr] 1955 dk exyokj Fi] rk 21 vDVcj 1993 dk diu&lk fnu

Fl\
(a) Saturday/ "fuokj (b) Wednesday/C/0kj
(c) Tuesday/exyokj (d) Sunday/ jfoolj

(e) None of these/bhue 1 dkb ugh

2. On what dates of May 1993 did Sunday fall?
eb] 1993 dk jfookj diuddiu I fnukd dk vk, xi\
(@) 1, 8, 15, 22, 29 (b) 2,9, 16, 23, 30
(c) 3, 10, 17, 24, 31 (d) 4,11, 18,25
3. Saturday falls on 9™ September 2011, what was the day
of week on 9 September 2007?
;fn 9 flrcj] 2011 dk *ifuokj Rk rk 9 flrcj] 2007 dk Hrlg dk
diu& Ik fnu gixi\
(a) Sunday/jfookj (b) Saturday/ "Ifuolj
(c) Monday/ lleokj (d) Tuesday/exyolj
4. The calender of 1971 used just after in the year?
0’k 1971 dk dy.Mj fdl o' e ik gixi\
(a) 1977 (b) 1981
(c) 1976 (d) 1982
5. The maximum gap between two successive leap year is :

nk @ekxr yhi 0% d chp fdru o'% dk vrj girk g\

(a) 4 (b) 8
() 2 (d) 1
6. The calender of the year 2024 can be used again in the
year?
o'k 2024 db dy.Mj ius fdl 0% i3k fd;k & Idrk g\
(a) 2030 (b) 2052
(c) 2048 (d) 2036

7. Vivek brother Raju 536 days older to him while his sister
Monika is 75 weeks older to Raju. If Monika was born
on Wednesday, on which day was Vivek born?

food dk Hikb jkt ml1 536 fnu cMk g tcfd midh cgu elfudi]
jke 175 Hrig cMh gA ;fn elfudk c/Zolj dk ink gb Fih rk T
fdl fau ink gvk Fi\
(a) Saturday/ "ifuokj (b) Sunday/ jfookj
(c) Friday/ "dokj (d) Monday/ lkeokj

8. If day after tomorrow is Saturday, what day was three
days before yesterday?
viu oty dy d cin dk fnu "kuolj g] rk cir g, dy I 3 fu
igy D;k fnu Fi\

CALENDER —

10.

11.

12.

13.

14.

Practice

(a) Thursday/cglLifrokj (b) Monday/ lkeokj
(c) Saturday/ "fuokj (d) Sunday/ jfoolj

bobby's birthday is on Monday 5" June. On what day of
the week will be Pinky's birthday in the same year if
Pinky was born of 227 September?

cich dk tlefnu 5 tu lkeokj dk gh mIh o' fidh dk tlefnu Nrig
e fdl fou dk vi,xk ;fn fidh di tle 22 flrcj dk gvk g\
(a) Saturday/ kaO (b) Wednesday/C/0kj

(c) Friday/ "dokj (d) Sunday/ jfookj

Anuj was born on 20® February. He celebrated his 4%
birthday on 29% February 2008, then which of the
foloowing is his birth year?

vut dk tle 20 ijojh dk gvk Fkh og viuk plFk tlefnu 29
iljojh 2008 dk dk euk;K] rk futufyf[ir e I diu&lk midk tle

o' g\
(a) 2004 (b) 2000
(c) 1992 (d) 1996

On what dates of April, 2001 did Wednesday fall?

vey] 2021 d fdl&fdl fnukd di c/okj gixi\

(@ 2,9, 16, 23 (b) 4,11, 18, 25

(c) 12, 18,27, 6 (d) 1,8, 15,22

Akshar remembers that the match is after 26" April but
before 30%" April, while Suresh remembers that the match

is after 2274 April but before 28™ April. On which date of
April is the match?

v{lj dk ;in g fd ep 26 vgy d cin yfdu 30 vgy I gy g]
tefd 1j% dk ;in g fd ep 22 vgy d cin yfdu 28 vey 1
igy gh ep vey dh fdl rijh[k dk g\

(a) 29 (b) 26

(c) 27 (d) 28

Deepa was born on 29 February 1988. Find how many
times he celebrated his birthday till 29 February 2000?
nhik dk tle 29 iQjojh 1988 dk gvk FiA crk, fd mlu 29 iQjojh
2000 rd e fdru cj viuk tle fnol euk;i\

(@) 2 (b) 12

(c) 11 (d 3

The day after tomorrow there will be Lakshmi Puja.

Diwali will be on this day next week. If today is Friday,
then which day will be four days after Diwali?

ijlk y{en it xnt vxy Hlrig bl fnu nhikoyh gkxtd ;fn wit
"idokj g] rk oyh d plj fou cin diu&lk fnu gixi\
(a) Saturday/ "fuokj (b) Sunday/ jfookj

(c) Friday/ "ok (d) Thurdsay/cgLifrokj
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15.

16.

17.

18.

19.

20.

21.

22.

23.

What was the day of week on 26%, November 2008?
26 uokcj 2008 dk Hrig dk diu&lk fnu gixk\

(a) Tuesday/exyokj (b) Monday/ lieolj

(c) Thursday/cgLifrokj (d) Wednesday/c/0kj
On what dates of March, 2013 did Wednesday fall?
elp 2013 e fdl&fdl fnukd ij c/okj vi;xi\

(a) 6, 13, 20, 27 (b) 5,12, 19, 26

(c) 4, 11, 18, 25 (d) 7, 14,21, 28

If the 6% day of Month is three days earlier then Saturday,
what day will it be on 215t day of the month?

;i egu dk NBk fnu “ifuolj 1 3 fnu gy wirk gh r eghu d
210 fou diu&lk fnu vi;xi\

(a) Tuesday/exyokj (b) Wednesday/c/0kj

(c) Monday/ lleolj (d) Thursday/cgLifrokj

If Tuesday fall on 19 July 2019, what will be the day of
16 Feb, 2019?

;fn 19 tylb 2019 dk exyolj gh rk 16 iljojh 2019 di
diu&lk fnu gixi\

(a) Tuesday/exyokj (b) Wednesday/c/0kj

(c) Thursday/cglLifrokj (d) Monday/ lkeokj

Ravi remembers that his mother's birthday is between
thirteenth and nineteenth April. His Brother remembers
that their mothers birthday is between seventeenth and
23rd April. If both of them remember correctly and on
which day is their mothers birth day?

jfo dk ;kn g fd mldh ekrk th dk tlefnu 13 vij 19 viy d
chp iMrk g vij mid Hib dk ;kn g fd tlefnu 17 wij 23 viy
d chp iMrk gA ;fn o nluk viudviu LRku ij Tgh gh rk mldh
etrk dk tlefnu dc wvirk gixi\

(@) 17 (b) 18™

(c) 17™ or 18 (d) 19*

The calender of 1971 used just after in the year?

0'% 1971 dk dy.Mj fdl 0% e 1;kx ghxi\

(@) 1977 (b) 1981

(c) 1976 (d) 1982

How many Leap Years in 800 years?

800 0l e fdru yii o' gir gh

(a) 200 (b) 202

(c) 194 (d) 197

Which of the following is odd?

futufyf[kr e 1 diu&lk fo'le gh

(a) April/Viy (b) July/tyib

(c) November /UOEC] (d) March/elp

If day before yesterday was Friday, what will be the third
day after the day-after-tomorrow?

;inchr g, dy I ,d fnu igy “l@okj Fi rk crib; fd viu oky
dy d ,d fou cin T rhljk fou Dk gixi\

(a) Thursday/cgLifrokj

(b) Friday/ "idokj

(c) Saturday/ "kfuokj

(d) Sunday/ jfoolj
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24.

25.

26.

27.

28.

29.

30.

Suresh was born on 4th October 1999, Shashikanth
was born 6 days before Suresh. The Independence Day
of the year fell on Sunday. Which day was Sashikanth
born?

1j'k dk tle 4 vDVcj 1999 dk gvk FiA “K*kdir di tle 1jk
I 6 fnu igy gvik Rk ml o' Lor=trk fnol jfookj dk FiA *k*kdkr
di tle fdl fau gvk Fik\

(a) Tuesday/exyokj (b) Wednesday/c/0kj

(c) Monday/ lleolj (d) Sunday/ jfoolj

In a year, Holi was enjoyed on 6™ March 9 A.M. and
Deepawali was celebrated on 11" November 8 P.M. The
total time interval (in hours) between the two was ?

,d o'k e 6 elp di Icg 9 ct giyh dk viun fy;k thrk FiA wij
nhikoyh 11 uocj dk jir 8 ct eulb xbh niuk d chp dy le;
vrijty (% e) Fi\

(a) Thursday/cgLifrokj (b) Monday/ lkeokj

(c) Saturday/ "fuokj (d) Sunday/ jfoolj

In the year 1996, the Republic day was celebrated on
Friday. On which day was the Republic day celebrated
in the year 2000?

0 1996 e x.fr=k fnol “i@okj dk euk;k x;k Fik rk o'k 2000 e
x.kr=k fnol fd1 fnu euk;k x;k F\

(a) Wednesday/c/0lj (b) Monday/ lkeokj

(c) Friday/ "ok (d) Saturday/"uokj

Tell the number of days from 26 January 2006 to 23
September 2006 (Including both dates).

26 tuojh 2006 1 23 flrtcj 2006 rd fnuk dh I[;k Kir djA
(@) 214 (b) 241

(c) 249 (d) 251

If the third Friday of a month is 16th what date is the
fourth Tuesday of that month?

;inelg d rilj "I dk 16 rijh[k g] ri mIh elg d piFk exyolj
dk D;k righk gkxi\

(a) 20 (b) 22nd

(c) 27 (d) 29™

Kavya's birthday is on Tuesday 4 July. On what day of

the week will be Anika's birthday in the same year if,
Anika was born on 15 August?

dio;k dk tle fnu 4 tytb fnu exyolj dk g] ;fn viudk dk tle
15 vxLr dk gvk Fi] rk mlh o'k viudk dk tle fru Hirig e fdll
fou gixi\

(a) Wednesday/Cc/0lj (b) Friday/ "ldokj

(c) Saturday/ "lfuokj (d) Tuesday/exyolj

Anil reached a place on Friday. He came to know that
he was three days earlier than the scheduled day. If he
had reached there on the following Sunday, how many
days late/early he would have been?

viuy *i@olj dk ,d txg igpih ml irk pyt fd og fu/kfjr fnu
I riu fnu igy F# ;fn og vxy jfoolj dk ogk igpri] rt og
fdru fau njh 1§ tYnh igpri\

(a) One day earlier/,d fnu igy

(b) One day late/,d fnu nj 1

(c) Two days late/nk fnu yV

(d) Two days earlier/nk fnu igy
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31.

32.

33.

34.

35.

36.

37.

38.

39.

In a company all mondays and sundays are offs. If a
month starts with monday and has 31 days then how
many offs will be there in that months?

,d diuh e THh Heokj vij jfookj dk NWh jgrh gh ;fn eghuk 31

fou dk g wij Bkeokj 1 "kz ghrk g] rk ml eghu e fdruh NfVV;k
ghxi\

(@) 7 (b) 8

(©) 9 (d) S

Day after tomorrow is Kiran's birthday. On the same
day next week falls 'Shivratri'. Today is Monday. What
will be the day after 'Shivratri'?

ijlk fdj.k dk tle fnu gA vxy llrig blh fau flojkk* TMrh gh
vit lieoly gh loji=i* d cin dk fu D;k gixk\

(a) Wednesday/C/0kj (b) Thursday/cgLifrokj

(c) Friday/ "ok (d) Saturday/ "fuokj

How many times does the 29" day of the month occur
in 400 consecutive years?

yxkrij 400 o' e egiu dk 290k fnu fdruh clj wirk g\

(a) 4497 (b) 1237

(c) 5012 (d) 4123

Hari remembers that his father's birthday is between
13™ and 16t of June, whereas his sister remembers that
their father's birthday is between 14%* and 18th of June.
On which day is their father's birthday, which both
agree?

off dk ;kn g fd mld firk dk tlefnu 13 1 16 tu d chp g]
tcfd mhdh cgu dk ;in g fd mud firk dk tlefnu 14 1 18 tu
d chp gh mud firk dk tlefnu fdl fnu girk g] fEN nkuk elur g\
(@) 14™ June (b) 15*™ June

(c) 16™ June (d) 17%® June

Which of the following years did not have 29 days in
February month?

futufyf[ir e 1 fdl o' e 1Qjojh eghu e 29 fnu ugh gir g\
(a) 2000 (b) 2004
(c) 1996 (d) 1966

How many weekends in a year?
,d o't e fdru Hrigir gir g\
(@) 52 (b) 53
(c) 103 (d) 104
The calendar of the year 2024 can be used again in the
year?

0'f 2024 e dyMj di fdl o' e 1uh mi;kx fd;k € Idrk g\

(a) 2030 (b) 2052
(c) 2048 (d) 2036
Which year has 366 days?

fdl o' e 366 fhu g\

(a) 1900 (b) 1200
(c) 2500 (d) 1700

How many days in 4 years?
4 Ity e fdru fnu gir g\
(a) 1461
(c) 1462

(b) 1463
(d) 1459
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40.

41.

42.

43.

a4,

On reaching Amritsar, Saurabh said that he had reached
there four days ahead of schedule. Ranjit reached there
five days later than the appointed time. If Saurabh
reached Amritsar on Sunday, then on what day did
Ranjit reach there?

verlj igpu ij IjH u dgk fd og fuf*pr Te; 1 pkj fau igy
ogk Igp X;k FA jtor ogk ij fuf*pr le; 1 ikp fou cin igpk
;i LigHc verlj jfoolj dk 1gpk g rk jeir ogk fd 1 fnu Tgpi\
(a) Wednesday/Cc/0lj (b) Tuesday/exyolj

(c) Thursday/cgLifrokj (d) Friday/ "ldokj

Rekha is 314 days older than Meenakshi, while Hema

is 70 weeks older than Rekha. If Hema was born on
Thursday, then on what day was Meenakshi born?

JIK) ehuk{i I 314 fnu cMh g] tcfd gel] j[ 1 70 Hlrkg cMh g
;i gek dk tle cgLifrokj dk gvk Fik rk ehuk{ih dk tle fdl fnu
gV Fik\

(a) Friday/ "ok

(b) Tuesday/exyokj

(c) Thursday/cglLifrokj
(d) Wednesday/Cc/0lj

If the first day of a year which is not a leap year is Friday,
then what will be the last day of that year?

'fn d o' & fd yhi 0% ugh g] dk gyt fnu "kdokj g rkm
db VIF[h fau diu& Bk gixi\

(a) Friday/ "ok

(b) Sunday/ jfoolj

(c) Monday/ lleolj

(d) Tuesday/exyokj

(e) None of these/bue 1 dkb ugh

If every Sunday of a month falls on the 4th, 11th, 18th
or 25th, then which day will fall on the last date of the
month? If the month starts from Thursday.

fdIh eghuk dk iR;d jfookj pkF] X;kjgo] vBkjgo ;k iphlo rjh[k
di iMrk g] rk egiuk d vfre righfk di diu&lk fnu IMX\ ;fn
eghuk dk ikjH cgLifrolj 1 g

(a) Saturday/ "lfuokj

(b) Tuesday/€exyokj

(c) Thurdsay/cgLifrokj

(d) Data insufficient/vidM v/j g

If a Monday falls two days after the day after day after
14 April of a month, then which day will fall on the last
date of that month?

;fnfdlh eghu dh 14 vey d ijlk d nk fau cin Bkeokj iMrk gf]
ri mIh eghu dh vire rijh[k dk diu&lk fou IMX\

(a) Saturday/ "fuokj
(b) Monday/ lleolj

(c) Sunday/jfoolj

(d) Wednesday/Cc/0lj
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45. Mohini birthday is on Tuesday 14" March. On whatday 48. If a week of 8 days instead of 7 with the 8™ day being

46.

47.

of the week will be Pranay's Birthday in the same year if
Pranay was born 13 September?

elfgun dk tlefnu exyolj 14 elp dk gh ;fn i.k; dk tle 13
flrcj dk gvk F4] rk mIh 0% i.k; di tlefnu lirig e fdl fnu
ghxi\

(a) Monday, lkeolj

(c) Wednesday/ c/0kj

(b) Tuesday/ exyolj
(d) Thursday/ X#olj

Kiran was born on 25% January 2015, while Soni was
born 554 days later. On which date was Soni born?

fdj.k di tle 25 tuoj] 2015 dk gvk Fi tcfd Tkuh ok tle mi
554 fnu cin gvk Fi&A Tkuh dk tle fdl fhu gvk FE\
(@) 2 August, 2016

(b) 315t July, 2016

(c) 1t August 2016

(d) 3¢ August, 2016

October 1%, 1994 falls on which day?

1 vDVcj] 1994 ok cllug fau i\

(a) Sunday/ jfoolj

(b) Saturday/ "lfuokj

(c) Friday/ "ok

(d) Wednesday/c/0kj

49.

New-day between Wednesday and Thurday, then what
will be the day on 1%t January 2025, if 15t January 2018
is Monday?

;in,d lrkg 7 fau d cny 8 fu dk girk g wij 8 ok fru ,d
usk fnu g & c/olj vij cglifrolj d chp g] rk 1 tuojh] 2025
o diuglk fiu gxk 5fn 1 tuoji] 2018 di lieokj Fi\

(a) Monday/ lleolj

(b) Wednesday/C/0lj

(c) New day/u;k fnu

(d) Friday/ "l@okj

Ifinstead of 365 days, a year was of 400 dyas and a leap
year was of 450 days, then what will be day on 1t day of

year 2031 if 1t day of year 2021 is a Thursday. Given
that a week still has 7 days?

;fn 365 fnuk d LFku ij ,d 0% 400 fuk dk gk wij yhi 0% 450
fouk dk gk rk 0% 2031 dk igyk fnu D;k gixk ;fn o' 2021 dk
igyk fnu x#olj gA ;g ner g, fd ,d lirig e vHh Hit 7 fiu g\
(a) Monday/ lleolj

(b) Tuesday/exyokj

(c) Wednesday/C/0lj

(d) Cannot be determined /fu/ifjr ugh fd;k th 1drk

1) | 2@ 3. () 4. (d) 5. (b) 6. (b) 7. (b) 8. (d) 9.(c) | 10.(c)
1L.(b) | 12.(a) | 138.(d) | 14.(c) | 15.(d) | 16.(@) | 17.(d) | 18.(b) | 19.(b) |20.(d)
21.(c) | 22.() | 23.(b) | 24.(a) | 25.(d) | 26.(a) | 27.(b) | 28.(c) | 29.(d) | 30.(a)
31.(c) | 32.(b) | 33.(a) | 34.(b) | 35.(d) | 36.(a) | 37.(b) | 38.(b) | 39.(a) |4o0.(b)
41.(a) | 42.(a) | 43.(d) | 44.(d) | 45.(c) | 46.(c) | 47.(b) | 48.(d) | 49.(b)
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